TOP

(oJNe)
DB RH h[ki/kgDA)]| x[ka/kg@A]|  DB[ ] RH[ ] [h[k)/kg(DA)]|x[kg/kg(DA)]
26 50 52.9 |0.0105 22 40 9.3 0.0066
9 33.4 (58) (81.6) | 0.0189 0.8 (33) (4.1) 0.0013
12 toj=tmin+y j(tmax-tmin)
14 tmin tmax
16 W 9] 0.556 | 12[ 0.921 |y 14| 0.988 [y 16| 0.876
K ETD [ ]
W/(_ K)] At ]
5| N Ow-1 0.9 4 5 6 7 21.2 1.2
E 9 14 14 12 1.1
S 3 6 9 11 1.0
W 4 5 7 11 1.1
K At [ ]
W/(  K)l|9 12 14 16 At ]
5 0G-1 6.4 7.4 21.2
IW-1 2.8 3.7 8.5
RH
SG=1 qG2n=IG SC
SG 1 gG2n={(IG-IGS) SG+IGS} SC
SC SG gG2n [W/ ]
9 |12 |14 |16
5| N SC [0.97]0.54]0.54|0.54] IG 42 43 42 38
5 mm SG| 0 0 0 0 |gG2n 41 23 23 19
S SC [0.97]0.54]0.54|0.54] IG 77 180 108 36
SG| 0 [0.99]0.29( O |gG2n 41 96 33 19
IG
gG2n
IG
gG2n
1. SC IG
2. IG 100kcal/ h qG2n
SC IG
3. qG2n S qG2n
qG2n={(93-36)x 0.29+36}x 0.97=51 kcal/ h IGS 42 43 42 36
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